RETFAN XFX H#E9SE Zv5L 03

ROX %2 KB L. (S50, Afk1520%, Bik24r, C#k345330% )

1.

(1)

(3)

(5)

(7)

a? —bv?

22 +5x—6

22 — 100z + 2500

22 — 1dx — 72

© -

(2) 22 + 2az + a?

(4) a’® — 6ab + 8b?

(6)  0.01z2 — 22512

(8) 2+ 40zy — 50092
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2. RXOAXZENESEEX. (S50, Afk145320%, B#k245, C#H%345 308 )

(1) a? — B? (2) 2% —4daz + 4a?
3) 2?2-52-6 (4)  a® —9ab + 8b?
(5) 2% —80x + 1600 (6)  0.252% — 169y
(1) 2% —6x—T72 (8) 22+ 40zy — 120042
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RE7AN XFX EBSE SV5L 03 BRERSR

1. RORXRZHNBOMREX. (S50, Af14720%8, B2y, C#34530%)

* R - RFEAOEH

a? + 2ab + b? = (axb)?
BEANX { a2 — b2 = (a+b)(a—0>b)
2+ (a+b)x+ab = (z+a)(xz+Db)
(1) a? —b? (2) 22 + 2ax + a?
=(a+0b)(a—1b) = (z + a)?
(3) 22+5x-6 (4)  a*—6ab+ 8b?
=(x+6)(x—1) = (a — 2b)(a — 4b)
(5)  x2 — 100z + 2500 (6)  0.012% — 225>
= (z — 50)2 = (0.1z + 15y)(0.1x — 15y)
(7) x? — 142 — 72 (8) 22 4+ 40zy — 500y
=(x 4+ 4)(x — 18) = (x + 50y)(z — 10y)
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2. XOXZHREOMEE L. (S50, AR1520%, B2, CH34530%)

(1) a2 _ /82

= (a+B)(a—pP)

alo XY XFDTNT T
B FY Ty XFDOR—Y

3) 2?2 —5x—6

— (2 +1)(z - 6)

(5) 22— 80x + 1600

= (z — 40)?

(7) z? — 6x — 72

= (x4 6)(x —12)

(2)

(4)

(6)

(8)

2 — daz + 4a?

= (x — 2a)?

a® — 9ab + 8b2

= (a — b)(a — 8b)

0.2522 — 169y

= (0.5z + 13y) (0.5 — 13y)

2% 4+ 40zy — 1200y

— (2 + 60y) (x — 20y)
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